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PART -1
GENERAL KNOWLEDGE
& TEACHING APTITUDE
. Receipent of Dadasaheb Phalke award 2013 is
1. Gulzar 2.A.R.Rehaman
3. Javed Akhtar 4. Akkineni Nageshwar rao
2013 K01 DT IPHE) T8 (fard
L Hed 2. 2.898.85°87
3. 36 ©88 4. ©8)3I TNEBD
. Present Governer of RBl is....
1. Duvvuri Subbarao 2. Bimal Jalan
3. Raghuram Rajan  4.Y.V. Reddy
(508 ety 508 KSHE DSB?
1. o580 KoeRyoesd) 2. DS 23er&
3. BwoPo TP 4. 3.9.3&
. World Freedom of press day is celebrated on.
1. April30 2.May3 3.June5 4.May 31
(%08 H&se '(305553) &Sséé\)zéo
1.ORS 30 2. % 3 3. S 5 4.5 31
. Head quarter of European Union.
1. Jakarta 2. Kathmandu
3. London 4. Brussels
‘0500 SEAEDS” XS TOFOD0 G G0&?
L a8y 2 =¢0tH 3. 0od] 4. D)
. Apassenger plane of Malasian Airlines from
Malasia to China dissappeared on March 8,
20147 What was the name of thet plane?
1. MH-370 2. Sukholi
3. MIG-20 4. Boeing747
B0 o8 TS I Feg g’ 2014
$r8) 85 wi)EiToN HBHADS 2anbBT) o
HO?
1. MH-370 2. Logred®d
3. 0R-20 4. SowoR 747
. One of the following acts as a primary barrier
on the part of the teacher in dealing with
primary class.
1. poor - english speaking ability
2. low self - confidence
3. lack of experience
4. lack of depth in subject knowledge
Bod aAS® (@EE SBHBS® HrdsrbosetH
GAPTR0008 (JREE 038850,
1. eofferis® Smepd oo S8 Goteo
2. LD @é&&)%ﬁgﬁo 3. @S S¥o
4. DHcHos® DB $HBepdo BEBSG0

7. CCEis
1. content comprehensive eudcation
2. continuos comprehensive education
3. complete continious education
4. continuous comprehensive evaluation
.28, odre
1. DRchH Dl Desg
2. VBoSE 5O oreergoddo
3. &8 Jeow JBods Dy
4. QBoBY S Laeergosdo
8. If you find a child in your class who always
isolates from the rest of class. You would...
1. try to understand the cause
2. ask the child to be normal by taking the
example of his classmates
3. inform the mangement that his presence
may effect other students of the class
4. leave the child alone so that the child
comes out of it by his own
D BBKBS 2.8 By P 2,080
05BN o KD s Boswse.
1. 8 [HSBIEE Soreseseno Beoss (Dch&o
BX
2. J& Durglods Srdkms, aPOe srrre
€00 B
3. 8 (@HHBS Hod add durgthon (DgrHo
HEDEA DIEDoENE BOADEIE
4. 58 S8 TPEY SOBFB. JotHBEST
BB 8 Tl 08 20LEB SFPE
9. The teaching hours from primary school in an
academic year according to Right to
educatoion Act-2009.
Dexg S8y, $360-2009 (HseS0 (@RS
FoTos el dues SosBBost 8 &850
Koeoen
1. 800 2.1000 3.1200 4.600
10. The share of MLC’s elected by teachers in
the total strength of the legislative council is

gl =

1
1.gth 2. th 3. d 4. th

Qe HOHRGY Iwgo $Sabge éoaagé‘s &aPGRgO0eD
@:6)&@3 AP HONRG Dghge Hod.

1. & 2. & 3. & 4. 3




PART -11 (A)
GENERAL ENGLISH

11.Suddenly, the owner of the house entered.
(Identify the parts o speech)
1.Noun 2.Pronoun 3.Adverb 4. Adjective
12. Nehru was a man of letters.
(The underlined phrase means)
1. afamous writer 2. awell-known fighter
3. astrong enemy 4. agreat scholar
13. Look, the man ....... the luggage.
(Choose the correct verb form)

1. carry 2.is carrying
3. carried 4. was carrying
14. He came here foot.

(Use the correct preposition fill in the blank)

1. by 2.0n 3.over 4.of
15. If I were a millionaire....

(choose the correct option to complete

sentence)

1. I will donate crores of ruppes

2. I would donate crores of rupees

3. lwould have donated crores of rupees

4. | could have donated crores of ruppes
16. My friend visited Agra.

(Its negative sentence is)

1. My friend not visited Agra

2. My friend visited not Agra

3. My friend did not visit Agra

4. My friend does not visit Agra
17. Can you explain it?

(the passive form of the given sentence is)

1. can it be explained by you?

2. can it be explain by you?

3. can you explained by it?

4. could it be explained by you?

18. Shakespeare wrote many dramas.
(use a suitable article)
1.a 2.an 3. the 4. no article

19. Rakesh father was furious at him for his
failure in exams.
(the nearest meaning of the underlined word is)
1. fear 2.angry 3.happy 4.sorrowful
20. The sage said, “Man is Mortal”.
(this sentence can be reported at)
1. the sage said man should be mortal
2. the sage said that man was mortal
3. the sage said that man is mortal
4.the sage said that man would be mortal

PART - 1l (B)
GENERAL TELUGU

21,285 Job oD, FES® Famd ardg
B30 ABO 000D BY&obk.

1. 2B 2. $HHoE
3. SPEPEEH 4. 32308
22. EotHErd HBED0rorrds Ko DD DB?
1. o8 2. @IS BES
3. %6, 4. KBS
23. “PE” 750 B0DB BTG JH?
1. Boe.aR 2. Fdoisod
3. Do 4. AtrHTRSe0
24. “T°E508” O3 HB0 D H0d ©HBH?
1. Eé@% K08 2. &g Do
3. 3528 Kod 4. CHEFBE306

25. 388 + &b = éé%é 03 HBo D Hod?

1. 38508 $500 2. &g Do

3. [Brerd Hob 4. 53587 B HSob
26. “GHEPBE” X HEO® DB Heso.

1. HBH 2. EHBE 3. BB 4.5°50%%
27. “e500y” O HSBNH HoRIDHE0 6.

L oeddm 2. bowen 3. SEREIW 4. Dey
28. Beid gri%H JPeso 50 aPETeD.

1. 85B arsgeo 2. 888 arsegen

3. (D&sE aesogen 4. K)rz“gciﬁyogé BRSO
29. 8608 Ege rerEd8, el SR8 Y

EPLE) JVH BSE 2.8%.

1. S8 39D IPdeS 2. @& RB50EE

3. o0 FPomees 4. eroiiorrss &8
30. BExBo% BLPPB H&° Do,

1. 8rH8 2. JS8rrHzP8e0

3. éé&médﬁ;o 4. $5688e90

31. JErgrgdns ©Fno Ko FPE%8 GreirSEs.
1. 8 R0 955088 TS
2. B0|&J EHB HERPSIRTN
3. & warow ) (Depbodd
4, e ?océ Ho&BTrodoDod
32. &S EHos® DBE (HBoHS g,

1. 88 2. 28 R 3. 2.7°.8. 4. DETE
33. ®, 8, &, a0 O ééq;éaa&é@é dseddore )

STpen AD?

1. &% e)eD 2. & éq;zﬁat)en

3. ), &, @8 en 4. mécs;zﬁax)en
34. % Srrges® $DoS F8o.

1. 58 880 2. 0508 L850

3. WO TPOHE FBEo 4. ISR S50

35. J)o% Ferds ©Fes0 28 &?
L (D3 8p° SQzegxing
2. BPERNE 0G0
3. T LAY K°g &0
4. ©F8 8558
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PART -1l {(A)
MATHEMATICS
111
41. —.7.— are in H.P. then.
abc
111 . .
— 7~ e HP.&° 6ol
a b c
2ac a+ce
b=—— 2.b=—0— 3.b=\Jac d.c=2b+a
42. The weight in kgs of 8 students are listed

below. Then their mean is..
45,385,424, 44 .3, 358 391 41 5 394

8 ool Jmethe
2

Sendals w‘wu. T

45, 38.5,42.4, 44. 8391415394
1.40.75 2.41 3.4065 4.39
43. Themeanof 17,4, 8, 6 and 15 is m. The
medlian of 8, 14, 10,5, 7, 5, 20, 19 and n is
{(m-1). Then the values of m and n are.

35

3,

17, 4, 8, 6 20bcn 15 e Dren 15 8, 14, 10,
5, 20 19 £oBdin ne Seyridsn (m- 1) @wond
m 006din n @ Jevden.

1.9,10 2.10,9 3.5,9

4. Can not be determined (5558 50)
3
44 . If Sin g="7. 6 is in 3rd quadrant.

Then Tang=

3 :
Sin =73, wnd 35 Sedod® &of Tang.
3 3 4 4
1. 1 2. 1 3. 3 4. 3
45, A+B=45, cot(B-1) cot (A-1)=
1.1 2.CotA CotB 3.2 4.0

46. Number of common tangets that can be drawn
to two circles which do not touch.

] sl B el Al A D
o ._J ODER ST Toth dvavah Nohdm & =Nl
@

47. A point which is not on x+y=6 is....

x+y= 51?_;_ B2 Do,
1.(3,3) 2.(24) 3.(3,2) 4.(4,2)

48. D (3,-1), E(2,6), F(-5,7) are the midpoints of
sides AB, BC, CArespectively. Then area of the

AABC is ___ sq.units.

D (3 -1) E(') 6' (-5.7} ey AB, BC, CAw

3, ([Behmo ABC

?. 20 2.16 3.36 4.96
49. (a,0), (0,b), (1,1) points are collinear. Condlition
is

(a,0), (0,b), (1,1) Sochien BB SEe08

1,11 2 +i-—1
a b a b
1 1 1 1
i 41= ————1=0
3a+b+1 0 4'b o}
200300 4 730D
50 3.’1+2 A 2 ) (3};'1—1 P
1.1 2.3 3.-1 4.0
(x)—f(3)
51.f(xj)=2x?+x+5:»xj3%—
1.1 2.13 3.15 4.17

52.Meaning of an Algorithmis ____
1. Method of solving the problem
2. Table 3. Flgure 4. Lines
afmeOEE W& = .
1. Ko 3
3.

53.1n the expansion of|
of .4is
l ln
A2 A e A R il e e 0o
- ey eudd e e v AL D) DAL L. ...
3 x2 LR TN x G
504 450 405 256
1 259 " 263 ) 256 4 405
54. Domain of f: x— 2x+3is -4 = y = 4 Then the

range y of fis.
f_)7x+3 ut,,u-,_ h.u@ Ho -4 =

=y =4 WOWND fuuuéL

1.2<y=11 2.3-y<5
3.-29y <3 4.-5-y=1

55. If a,b,c are in A.P., the straight line ax+by+c=0
always passes through the point.

ab,ceo A P &t i) axtby+c= CL:




56. ax’+ b+ ¢ =m0 has its roots crand &,
Then i+ fim
ax’+ b + ¢ m 0 Tos) Somedioes o delato f,
wonB @i+ Bi=_ ..
‘_L___Ir"'+:..u|ll
T il
3 Lﬁ 4 L:I_L?—Ir.'fi'l

i i
57, Asthe set of all factors of 24; Bis the set of all
factors of 48, Then

weom 4 48 selioroEsoor SiDi

1 .
1. _21.'-*+1..n ¥

(b¥— 2ac)

2d seimods Rasr

1. 4B Z2BcA S5 4=hg 4 Al B=C2

i oa
58 If | - |is a singular matrlx, then a =

il
| - | f'..:_'ﬁ-'.. LT S

1.3 29 3.-9 4. 9 {or)-4
53, i pis false and g s true then is false.

P e o0, ) RAEIE00 EOMIRS ... WG ek,

1.p=q 2.up

3 {rupl=q 4 nf{nop) = q]
60. _  isafactor of 57-1 (n<= M)

5.1 (n = N) DwE) evtlerolo.....

1. 50 Z 48 i 24 4. 14

PART - lll (B)

PHYSICAL SCIENCES
61. The successive distance between two anti
nodes is..
B0 HBD (Djosiare Sy Srdo 12.5 0. 8.
©oNEd & &Boriggso wo. .o
1.50 2.100 3.25
62. Position is a
1. positively charged proton
2. negatively charged electron
3. positevely charged electron
4. negatively charged proton
FPREPS 9038
1. 5588 (DPerS 2. awerdd OIS
3. RS JolES 4. 2R d (DBerS
63. The ratio of acceleration due to gravity on earth
and moon is.
35, So(EH &ois Hodr&8Bere S

4.75

1.1:6 2.1:9 3.9:1 4.6:1
64.The atoms which do not form an ion is

1. sodium 2. hydrogen

3. argon 4. magnesium

& [Bob 7AE® ©irS BB HBEHee0D)
L F&cho 2. TE=S 3. S 4. Djhado

65. Which of the following has maximum weight
percentage?
1. 5 gm of sodium carbonate is added to 95 gm
of water
2. 15 gm of oxalic acid is present in 150 gm of
its aqueous solution
3. 10 gm of sodium chloride is dissolved in 190
gm of water
4. 25 gm of potassium iodide is present in 400
gm of its aqueous solution
Bod E* B grdzeso KBKo
1. 95 [réwe B8 5 [rsne BEHo 95@)3&5
EODS (edes0
2. 150 (rdwe 20 [@edeod® 15 [edwe
o508 efo Ko [E°seo
3. 190 (eswe HB8 10 (rswe F&cho &85
EODS (edes0
400 (rsne 2e(eseos® 25 (s
FEPRCD0 OBPRE Ko ([TeHes0
66. Gunpowder is a mixture of
1. charcoal, potasium hydroxide and
phosphorous
2. nitric acid and hydrogen chloride
3. sulphur potassium nitrate and charcoal

4.

4. aluminium, sulphur and charcoal

BSPEE 980 HB MEaho

% Ry PEPRCD0 TREEE)E B0 FRBR
é;s? g?@@o S8 eEt=S 886
3. V5, grerhcdo B b0 &rHPE

4. ©ergAho, ée@g 08350 5"&0383"&

67. The reason for the stars appear to be twinkling
in the sky is..

1. total internal reflection 2. primary colours
3. refraction 4. refraction index
wd0S® SEEre SeeEE DESEAS 080

1. éo@vq;oééé JoeHE50 2. (PHDE Borben
3. $es0 4. 38555 Heedo

68. The elecromagnetic waves used in RADAR are
1. micro waves 2. radio waves
3. x-rays 4. infrared rays
ooeeES° GHBPA0E DEAI0E DBBeseen
1. P& SEorren 2. &R SBorren
3. X - 88egren 4. Hoedoes 8Bearen

69. Avagadro number is
wSrE Sowy..
1.6.625x 103 2.6.67x 10"
3.6.625x 10 4.6.023 x 10%

70. Which is the following are “oligosaccharides”
a. cellulose b. glucose c. maltose d. surrose
1.a,b 2.b,c 3.¢c,d 4.a,d
Bod 7® O EBEen
a 2e58’E b 28’8 ¢ DS d DEE
1.a,b 2.b,c 3.c,d 4.a,d




PART - 11l (C)
BIOLOGICAL SCIENCES

71. The swollen of Salivary glands is symtom of
this diesease.
1. Cholera 2. Mumps 3. Rubiola 4. Dhyptheria
rerao(fofe T ©F OFpo 88 TH8 Do
L Sooe 2. 558 DFeo 3. Sty 4. BRHOI
72. The water percentage in property nearly
85 émgoé‘s HB S0 LoSTBr.

1. 80% 2. 90% 3. 50% 4. 75%
73. The group of sperms in frog is called.
1. Milt 2 Spawn 3. Split 4. Sprawn
85 DB SLNTATR) D00rE?
1. o 2. S 3. 98 4. (S
) )
74. The place of respiration takes place in
paramesium

1. cell mambrane 2. mitochandria
3. golgy complex 4. cell wall
DTERAD0 TRHED 238D (BB F0
1. SeadSo 2. DePeeo@asr
3. g JofHo 4. ea850
75. The white blood cell, have “S” shaped nucleus is
1. Acidofil 2. Basofil 3. Monocyte 4. Luecoyte
“S” szl BolESo Ko BeBEseso.
L &S 2. &*FDS 3. IS T 4. omE 05
76. The vitamine, spailed with the overage of heat is.
1. Calsiferal 2. Retinal

3. Folic Acid 4. Ascarbic Acid
@8 38 I $80T JOWS
1. oS 2. 3OS
3. POE who 4. a8 eo
77. The scientific name of Apis Indica.
1. Honey Bee 2. Flie
3. Masquito 4. Earthwarm
DT Bo&asr B dohaeso.
1. 838K 2. & 3. &% 4. dsm

78. The drug Di Ethyle Carbomazine is for this
diesease.

1. Brain fever 2. Measles

3. Malariya 4. Phylariyasis
@ 936 5°E)%ES BB Ho.

1. 1SLTTY 2. &0

3. HBoasw 4. BOSELS

79. The led compounds destroy the following
system.
1. repiratory system 2. circulatory system
3. reproduction system 4. nervous system
88 Say¥aren HAY TPES0 Barow.
L 350 35308 2. 88 (650880 335358
3. (&5 555 4. =8 8558

80. The percentage of salt in ocean water.
D50 @ oSBAHS TS0

1.25% 2.45% 3.3.8% 4. 3.5 %

PART - Il (D)
SOCIAL STUDIES

81.Anti - trade winds blows towards....
1. Equitorial low pressure belt
2. Sub-tropical high pressure belt
3. Sub-polar low pressure belt
4. Polar high pressure belt
D)0 HdTeen HF 8%.....
1. aﬁ:vzﬁ)éééaa @wﬁaéé (Frogo 3D
2. &5ecHSBy ©iE HES (Froso IH
3. &HED wodES @rodo D
4. )% 088 HES (@rodo I
82.The largest desert in the southern hemisphere
1. Arabia desrt 2. Thar Desert
3. Kalahari Desert 4. Australia Desert
tsgwgoes‘s ©8 DY SHHOLL ITO.

1. @B b 2. 786 dwed

3. o8 Jwed 4. SQOKF T
83. Day light at the 66 1/2°latitude .....

1. 24 hours 2. 1 month

3. 2 months 4. 4 months

66 1/2° wgrodo éccs) Hnsdsreo....

1. 24 Koéen 2. 13

3. 2 Joen 4, 4 Jeen

84.82 1/2° East longitude does not pass though the
following state.
1. Bihar 2. Jharkahand 3. Tripura 4. Mizoram
82 1/20 &8y Darodsm (Bobd O oo o
(DSTB0S.
L O¥5 2. ol 3. (8D 4. Dbsd
85. Which of the following activities prevents
‘Soil Erosion’.
1. Cantour Bondary
2. Planting of trees over the foothills
3. Reforestration 4. All the above
&8 (Bob JLgo Dol LBs® (EOEAPY
e—sbéecgzﬁzﬁa.
1. 50082328 eroioh
2. B0 aren griiEnd Snen Doteo Jod
3. e @é):ép)% 4, ';’._3265&
86. Formation of constitutional comittee was first
proposedby
1. Cabinet mission 2. Cripps mission
3. Simon commission 4. All of the above
TRegol] HONE DTEN HBON BnéyBncsear
(DAFEDZE.
1. 55835 RS 2. 8%) DAS
3. 258 8RS 4. 2
87.How many members were nominated by the
president to Rajyasabha?
oo (08 TReggdgsEd D08 $Hob K5 DS
307
1.10

3. 12 4.13

2. 14




88. Which of the following is not a special postal
stamp?
1. Airmail stamp
2. Commemorative stamp
3. Registration stamp
4. Postal stamp affixed on a cover
Bobd VS (HBERS Sare DHSE PIrly
SO A&?
1. Qo0& Jond ALY 2. g;}asvg L2}
3. BRJKS DY) 4. 8563 08803 OY)
89. Who is responsible for smooth run of electrons
in poling booth?
1. Polling officer 2. Presiding officer
3. Polling agents 4. Clerck
DBOoR Solres® BOoR (HBaHh 20653?03
Slalilel
1. %00oh ©5Hz0
3. ¥0oh B
90. UNO found at?
1. 1945 Oct.24 2.1995Aug.19
3.1919 Sep.5 4.1956 Jan.28
“0850Pegn8” BB Hon?
1. 1945 ©&=6 24 2. 1995 &y 19
3. 1919 ?o'zégoaﬁ 5 4. 1956 22550 28

91.The Chairman of the planning commission.
1. Prime Minister 2. President
3. Speaker of Loksaba 4. Governer
Be°@8 Koo BwE) FBS
1. (DS Sool@ 2. FgH
3. &b )86 4. K385
92. The founder of Arya Samaj.
1. Vivekananda 2. Veresalingam
3. Ramakrishna 4. Dayananda Saraswathi
CISININ LTI ﬁsééx‘é}

1. D308 2. &B800n0

3. TB)R 4. B350 SBH®
93. Red Fort at Delhi was built by

1. Babar 2. Shajahan

3. Jahangir 4. Aurangazeb

$HS° A R FR0DI .

1. er2d 2. Pu®S 3. wPoAd 4. Do
94 Vandematram was written by

1. Bankim Chandra Chattopadhyaya

2. Eswara Chandra Vidya Sagar

3. Ravindranath Tagore

4. Devendranath Tagore

H0BEPSELED ED0DS 38

1. @80 Kol ééﬁsﬁméédﬁ)

2. SKb Kol Dogeiid

3. 8DolBzeE TorirE 4. BIolBE ooiies

95. The Spinning Jenny was invented by.
1. Jemes Hargreaves 2. Richard Ark
3. Samuel Crompton 4. James Watt
2)N)oNEY) ELFP)T
1. 8858 (B8 2. 6775 ©§)
3. TFWS(EP0PS 4. B5) ¢S
96. The war of Roses started in the year.
&Pee FORIRNOLD o‘ﬁwcgo 220AS Yo Bo.
1.A.D.1455-1485 2.A.D.1446 - 1448
3.A.D.1455- 1456 4.A.D.1439 - 1443
97. Diamonds are not necesstry for the life but yet
they are an Economic good because.
1. They are easily available at all jewelary shops
2. They are beautiful to look at
3. They are difficult to find
4. They require resources which are scarce to
produce them
2DTD8 Sleren 053G © @S 58098,
28690 DI,
1. 0 Sere S begforr ofFeom
2. ©3 8O woliorr eotron
3. @ degforr 9ok
4. B 6BPVD $Sen ST eamon
98. An example for property tax
1. Wealth tax 2. Income tax
3. Sales tax 4. Excise tax
SYDIND &8 GTrde
1. K05 Dy 2. oPah) DXy
3. @X8H DXy 4. BYE s
99. The partition of Bengal was cancelled in.
Borred D53 66&@) ond HodE)Bo.
1.1905 2. 1911 3.1914
100.Decrease in death rates.
1. Economic indicator 2. Political indicator
3. Social indicator
4. Demographic indicator
SoBeatens® é?ﬁgtﬁo.
1. @gé ISVLALS]
3. Jrodn8 S

4.1919

2. oradod s
4. a337g® {8
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19| 2 |29| 3
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